Bellwork  Alg 2B  Tuesday, June 5, 2018
1. Find the area of A4BC to the nearest tenth where 2B = 125°, a = 38, and ¢ = 20

2. State 5 x-intercepts and 5 VA of this function: Cot?—’f

3. Solve each triangle. Give answers to the nearest tenth.
a) b) c)

52 88° 5 €

(6 B C 41

4. Given Cscl = % find the remaining trig functions as ratios. Simplify and rationalize denominators.
Cosf = Tanf = Secf =

Sinf = Cotf =

5. Find the complete solution. Give EXACT answers if possible otherwise round to the nearest tenth. Give
answers in degrees.

8Cos26x + 7Cos6x = 0

6. Simplify each trig expression.

a) SinZx - Cos2xSinx el ]
SinxCosx  Tanx

7. verify this trig identity. L8c0:+.Colll - = ot s

Tan@ + Sing
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